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Foundations and Pre-Calculus 10

The Sum of an Arithmetic Series

Determine the sum of the numbers from 1 to 100.
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50 paars of 101
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What difference do you see between the problem above and the sequences we worked
with previously?

We are M/dimj e eI S

series: the sum of a sequence

arithmetic series:  a series whose terms are separated by a common difference
eg.2+6+ 10 +...

The sum of the first n terms of an arithmetic series is given by the following formula:

n
S =—(a+t
=5 (a+t,)

Ex. 1) Determine the sum of the first 30 terms of the series 3 + 5+ 7 + 9 + ...

n=30. d=2
i .= 30(3+06l)
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Foundations and Pre-Calculus 10

Ex. 2) Determine the sum of the first 50 terms of the series 1 + 6 + 11 +.....

A= - SO (1 +26%)
A=S Jo= 32
n=50 = QZS/
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Ex. 3) Determine the sum oftheserie55f9+134j17+....+65.
k=5 9, =1 (5+65)
A = 2
£, =65 = O
n="7
60 = 4 (n-1)
IS = n—I
nw=I[b
Ex. 4) Determing the sum of the series 17 + 9+ 1 + ... + (-95).
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